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61 243 Rooms Division Management

Midterm Exam Answer
1. Explain how employees’ job performance can be best evaluated through using job descriptions? (2 Points)
Since job descriptions are lists of tasks and sub-tasks that compose a work position, the fair and scientific way to evaluate job performances is to use those very tasks / sub-tasks along with a scale and have a score across each employee’s task / subtask. Later, by averaging the scores, a quantitative evaluation would be obtained.
2. Why it is important to consider the stages guests passes by as a cycle? (2 Points)

It is important to consider the stages guests passes by as a cycle due to the fact that hotels want to attract repeat guests. For, when a guest checks out (Departure Stage), reserves for a future date (Pre-arrival Stage) and come back again (Arrival Stage), that very guest becomes a repeat guest. Since attracting repeat guests has endless benefits to the hotel, thinking about the stages the guest passes by as a cycle is vital to the success of the operation.

3. What is a folio tray, well or bucket? In which record keeping system is this very equipment used?  (3 Points)

A folio tray, well or bucket is an equipment used by the Accounts Receivable Clerk, in the Semi-automated system, to store and maintain guest folios. 

4. Bebbe Hotel agrees to allot Q7 Travel 15 Single, 35 Double & 06 Triple rooms for the period running from 15/10/2011 (Sunday) till 20/12/2011 (Tuesday) for each Wednesday & Friday arrivals for 3 nights. According to the allotment contract signed between both parties, Q7 Travel has to send its final list latest 5 days before actual arrival of any group.
a) When is the first group estimated to arrive to Bebbe Hotel? (1 Point)

The first group is estimated to come to Bebbe Hotel on Wednesday 18/10/2011.

b) When is the cut-off date of the first group? (1 Point)

The cut-off date of the first group is Friday 13/10/2011.
c) Suppose, by the cut-off date of the first group, Q7 Travel communicated a Final List showing a need of 10 Single, 32 Double & 04 Triple rooms. How many rooms are washed out? (1 Point) Calculate the Wash Out Factor Percentage. (Round your answer to the nearest cent) (1 Point)
· Initial allotment = 15 + 35 + 6 = 56 rooms.

· Number of rooms conveyed in final list = 10 + 32 + 4 = 46 rooms.

· Washed out rooms = 56 – 46 = 10 rooms.

· Wash out factor percentage = ((56 – 46) / 56) * 100 = (10 / 56) * 100 = 17.86 %.

5. Could you come up with any 2 side functions of affiliate reservation networks? (2 Points)
Some of the side functions of affiliate reservation networks are:

· Serve as an inter-property Communication Network

· Serve as an Accounting Transfer Tool

· Serve as a Destination Information Center

· Might enjoy the benefits of being connected to Global Distribution Systems

6. What is an “Out of Order” room? For which reasons a room might be on this very status? (3 Points)

An out of order room describes a room that is not available for sale, and, hence, cannot be awarded to any arrival. A room can turn out to be on an out of order status because of the following 2 reasons:
· Housekeeping problem (i.e. the room is intensively dirty so that room maids cannot clean that very room within allowable time limits).

· Maintenance problem (i.e. the room has some deficiencies as far as equipment / facilities in the room are concerned)

7. What is a “Quad” room? (1 Point)

A quad room is a room assigned to four persons. This very room may be equipped with two or more beds.
8. What is an “Account Correction” transaction? What is the effect of an “Account Correction” transaction on the Net Outstanding Balance of a folio? What is the supporting document needed to accompany an “Account Correction” transaction? (3 Points)

An account correction transaction involves correction of a previously posted erroneous transaction that is detected before the closing of the day. The effect of an account correction on the net outstanding balance depends on the nature of the erroneous posting (i.e. can increase, decrease, as well as keep the net outstanding balance unchanged). Lastly, an account transaction is supported by a “Correction Voucher”.

9. At Sidnei Hotel, Pablo has accumulated, just before checkout, the following details in his guest folio:
- Room Charges


$ 750.00
- Food Charges


$ 314.66
- Beverage Charges


$ 105.39
- Telephone Charges


$ 83.83
- Extra Charges


$ 22.45
- Payment (During Stay)

$ 147.75
- Guaranteed Reservation Payment 
$ 250.00
Suppose that Pablo decided to settle his guest folio, 60 % by cash, and the remaining by Personal Check.

a) What is Pablo’s Net Outstanding Balance? (2 Points)

· Net Outstanding Balance = (750 + 314.66 + 105.39 + 83.83 + 22.45) – (147.75 + 250) = 1,276.33 – 397.75 = $ 878.58.

b) Journalize the zeroing of the guest folio. (3 Points)

      Dr.


      Cr.

-------------------------------------------------------------------------------------------------------------

Cash





$ 527.15

Personal Check Payment Account

$ 351.43





Guest Account



$ 878.58

-------------------------------------------------------------------------------------------------------------

c) What are the supporting documents needed as to close properly Pablo’s guest folio? (2 Points)

· Cash Voucher with an amount of $ 527.15.

· Personal Check Voucher with an amount of $ 351.43.

· An invoice with an amount of $ 878.58.

10. Pektemek Club consists of 215 rooms. Mr. Mustafa has been newly hired for the position of an Assistant Reservation Manager. He is supposed to calculate how many rooms Pektemek Club needed to overbook for the night of November 28th 2011. 

Mr. Mustafa was given the following information at hand, both updated and concerning the night of November 28th, 2011: 

· Number of rooms reserved: 


150 rooms

· Number of rooms occupied by stayovers:
50 rooms

· Forecasted No-show Percentage:

3 %

· Forecasted Understay Percentage:
 
4 %

· Forecasted Overstay Percentage:
 
1 %

· Forecasted Cancellation Percentage: 

5 %

· Expected Out Of Order Rooms:

4 rooms

Suppose you are the Rooms Division Manager in Pektemek Club. Since Mr. Mustafa is newly hired, he knocked your door and wanted your assistance. Could you help Mr. Mustafa to come up with?
a) The maximum number of rooms (including overbooked rooms) that can be reserved for that very night? (3 Points)

· Total number of rooms expected to be occupied for the night of November 28th, 2011 = 150 + 50 = 200 Rooms
· Adjustment due to no-shows  = - 3 % * 150 = - 4.50 Rooms
· Adjustment due to understays  = - 4 % * 50 = - 2.00 Rooms
· Adjustment due to overstays  = 1 % * 50 = + 0.50 Rooms
· Adjustment due to cancellation  = - 5 % * 150 = - 7.50 Rooms
· Total adjustment = - 4.50 – 2 + 0.50 – 7.50 = - 13.50 Rooms
· Total number of rooms expected to be occupied for the night of November 28th, 2011 (after adjustment) = 200 – 13.50 = 186.50 Rooms
· Total number of rooms available for sale for the night of November 28th, 2011 = 215 - 4 = 211 Rooms
· Maximum number of rooms to be additionally reserved for the night of November 28th, 2011 = 211 – 186.50 = 24.50 Rooms
· Total number of rooms expected to be reserved and occupied for the night of April 28th, 2011 = 200 + 24.550 = 224.50 Rooms.
b) The number of overbooked rooms? (1 Point)

· Total Number of overbooked rooms = 200 + 24.50 – 211 = 13.50 Rooms.
c) The overbooking factor? (2 Points)

· Forecasted Occupancy Percentage = 224.50 / (215 – 4) * 100 = 106.40 %
· Overbooking Factor = 106.40 % - 100 % = 6.40 %.

N.B: Answers to a), b) & c) parts shall be rounded to the nearest cent.
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